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For the figure shown below, 

find the 4 x 4 homogeneous 

transformation matrices 

𝑇𝑖
𝑖−1

 for  𝑖 =  1, 2, 3, 4, 5. 

And Find 𝑇1
2 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

𝑇1
0

 = [

−1 0 0 0
0 0 −1 𝑒 + 𝑐
0 −1 0 𝑎 − 𝑑
0 0 0 1

] 𝑇4
3

 = [

0 0 −1 𝑑
1 0 0 0
0 −1 0 𝑐
0 0 0 1

] 

𝑇2
1

 = [

0 −1 0 𝑏
0 0 −1 𝑎 − 𝑑
1 0 0 0
0 0 0 1

] 𝑇5
4

 = [

0 0 −1 𝑏
1 0 0 0
0 −1 0 𝑎 − 𝑑
0 0 0 1

] 

𝑇3
2

 = [

0 0 1 𝑒
0 1 0 0

−1 0 0 𝑎
0 0 0 1

] 𝑇1
2

 = [

0 0 1 0
−1 0 0 𝑏
0 −1 0 𝑎 − 𝑑
0 0 0 1

] 

 


